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Development Economics
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(3 Hours)

N.B. : (1) Attempt any four questions
(2) All questions carry equal marks

[. Answer any two of the following:
(a) Model of surplus labour
(b) Big push theory

[ Total Marks :60

(c) Relationship between constant capital and variable capital

2. Write notes on any two of the following:
(a) Solow Swan model
(b) Harrod Domar Model
(¢)  Growth programming

('S

context of exiting financial institutions.

4. Write an essay on gender and development.

n

(b) Write a note on contradictory devaluation

(@)

. Explain in detail the merged Bank fund Model

. Write notes on any two of the following:
(a) Doomsday model
(b)  Currency crisis
(¢)  Undernutrition in labour markets
(d)  Economies of child labour
(¢)  Trade reforms and development.

-

SP-Con.5573-16.

Critically evaluate any two mainstream paradigms of underdevelopment in the

. (a) Explain agriculture industry interrelationship in development process

TURN OVER




Q.P. Code : 21039

2
(TS EUTeR)
(3 @) LR LR

e () VAR 9R WA Higdl
() &d Y WHE 7 SATRG.

Y. @icileTdeh! SHIVCATE! Srgial TSR vl dl.
(a1)  Afrer smr=n wfame
(€) ST gt faegma
(®) of9d Wiead AT I Wgdwt I 488

. GTeartsh! sivreaTg! grafeat T Torgl.
() e & iaE=
(€) Ee s gfqad
(%) I TESH

3. Tedty weuea gewld qed YaTRTdie wiveardl g e fadmarean waeTe

feehTcHeh HoaHTI .

v, T g faemg Imex Wy forgl.

. (a1) e whRdd ot 9 ST AT WER g8y €S
() Hgerd Sraqead A g fogr.

g, Toel dor-%g fodm oivel €as¢ &,

b, WTeadeh HIvETEl grgiaT a1 forE.
CIETREIERIGEE
(F) T Al
() AN T JAIR
(2) "y 9 v
(3) SATIR YURUM I gEql

SP-Con.5573-16.




M.A. (PART- Il)

ECONOMICS _
Public Economics QP Code : 21359
(Paper -1V) April 2016 )
(3 Hours) [ Total Marks : 100

(b)

(b)

(b)
4. (a)
(b)

5.7 (a)
(b)

6. (a)
(b)

N.B. : (1) Attempt any four questions.

(2) All questions carry equal (25) marks.

State and prove Arrow Impossibility Theorem.
Describe the theorems of welfare economics.

Discuss 'Honesty is the best policy' in the context of clarke Groves Tax.
Examine the efficiency conditions for the provision of club goods.

Explain the relationship between optimal taxation and income distribution

- with reference to a linear income tax.

Discuss the effects of tax on working hours.

Explain the inclusion of wealth effect in traditional IS-LM analysis with
reference to Silber model.
Explain Ricardian equivalence.

Discuss Krugman's model of financial crisis.
Elaborate twin deficits approach to growth and inertial inflation.

Evaluate the theorem of decentralisation
What is tax assignment problem? Explain its various approaches.

7. Write notes on (any two):

(a Interest group capture

(b) Lindahl's voluntary exchange model of taxation.

(c)  Excess burden of tax under general equilibrium approach
(d) Seignorage and inflationary finance

(e)  Macro economic effects of fiscal deficit.

(f)  Flypaper effect.
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[ Total Marks : 100

(2) Answer any three questions from the remaining six questions.

(3) Allquestions carry equal marks.

Write short notes on any three ofthe following:-

(a) Pesticide Management
(b) Watershed approach

(c) Role ofagriculture in developing countries |

(d) Agricultural Research and Extension
(e) Gender-based Income disparities
(f) Globalisation of agricultural trade

Explain the following theories of agricultural development:

(a) Mellor (b) Lewis

(a) Explainthe different perspectives on water and discuss water charges.

(b) Discuss the large dam controversy.
Examine the trends in the following :-

(a) Agricultural employment and real wages.
(b) Rural-Urban income disparity.

(a) Explain the role of Self-Help Groups.

(b) Write a note on Crop and Livestock Insurance in India.

Discuss any twe of the following:-
(a) Market Interlocking

(b) Feudalism and Capitalism

(¢) Methods of Surplus Extraction.

Attempt any two of the following :

(a) Land Ceiling Act

(b) Landto the Tiller Act

(¢) Foreign Capital and Indian agriculture

(d) Agrarian Reforms and Peasant Movements
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Py (3 Hours) [ Total Marks : 100
N.B.: (1) Attempt any four questions
(2) Figures to the right indicate full marks
1. Explain the following in brief: 25
(a) Types of unemployment in India
“ (b) Theory of Human Capital
2. (a) Discuss the Short run demand curve for labour. 13
(b) Explain the impact of technological change on employment. 12
3. Explain briefly the following theories: 25
(a) Marginal productivity theory
(b) Demand and supply theory of wages
4. (a) Writeja note on Economics of union. 13
(b) Explain the Implicit contract theory 12
5. (a) Write anote on Labour market segmentation in India. 13
(b) Explain the impact of privatization on labour market in India. 12
6. (a) Explain the Class conflict approach to industrial relations. 12
(b) Explain the role and functions of ILO 13
7. Write notes on any two of the following: - 25
(a) Determinants of Labour force participation
(b) Wage differentials in India
(c) Employment security and efficiency
(d) Strikes, lockout and closure
" [TURNOVER
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